ASSEMBLY INSTRUCTIONS — ™='”

® aspenhome,

Distributed by Furniture Values International, LLC

ITEM NO: ICB-6050-BCH/BLK Leg Dining Table

FARDWARE PACK COMPONENT LIST
A pmmmm  Bolt (©5/16"*55mm) 8PCS | Table Top 1 Pc
B e Lock Washer (85/16") 8PCS | Leg 4 Pcs
C Flat Washer (25/16")  8pcs | -eaf 2 Pes
D == Allen Wrench 1PC

A, USHIG A NALL PULLER T0 REMDIE TEE
é%g STRAPS. D0 NOT JERK THE STRAPS
LOOSE CAUSING DAMAGE TO THE, TABLE,

ASSEMBLY STEP:

1. Put the table top upside down on a soft, clean surface.

2. Set the leg in the corner of the table top. Align the holes in the corner block of table
top with the threads in the legs. Attach the legs to the table top with bolts(2 pcs each
leg), Lock washers and Flat washers and tighten with Allen wrench.

3. Set the table upright.

MADE IN VIETNAM 2011-10-13



ASSEMBLY INSTRUCTIONS — ™=*7

@ aspenhome,

Distributed by Furniture Values International, LLC

ITEM NO: ICB-6050-BCH/BLK Leg Dining Table

Option 2

Un-Fold the aprons

[f you prefer to use this table as Option 2 or Option 3, please proceed as the following steps:

1. Make the table locks under the table top at the OFF position. And pull the table top to both sides
out completely. Take the leaves out, un-fold its aprons as shown in detail 2.

2. Put the leaf in.

3. Push the table top until the table top fully closed. Make the table locks at the ON position.

MADE IN VIETNAM 2011-10-13



ASSEMBLY INSTRUCTIONS ...

@ aspenhome.

Distributed by Furniture Values Intemational, LLC

ITEM NO: 1CB-6670A-BCH/BLK Dining Dbl X Arm Chair(2/Carton)

HARDWARE PACK|

A (mmmpm 3" Bolt (01/4") 4 Pcs F ® Flat Washer 2 Pcs
B pmm 2 1/2% Bolt (#1/4") 4 Pcs (1/4"*12mm)

C pmm 11/2" Bolt (#1/4") 8Pes O == Allen ¥rench 1Pc
D ©  Lock Washer (B1/4") 16Pcs H <  Wood Plug 2 Pcs
E Flat Washer 14 Pes

(@1/4"%19mm)

COVPONENTS LIST |

Chair Back 1Pc Chair Seat 1P

Front Leg 2 Pes Am Rest 2 Pcs

Detail 2

1. Open the box. Take out each part and the hardware pack.
2. Place the chair back on a padded ares, and assemble the
chair seat to the chair back (as shoyn in detail 1 &
2).Do not tighten the bolts completely.

MADE IN VIETNAM 2010-04-16



ASSEMBLY INSTRUCTIONS  ...ue

@ aspenhome.

Distributed by Furniture Values Intemational, LLC

Detail 4
Front leg

Arm rest

Chair seat l' ‘

Insert the wood plug after every bolts
are fastened closely

3. Assemble the front leg to the chair seat as detail 3.Do not
tighten the beolts completely.

4, Attach the arm rest to the chair back and chair seat as
shoyn in detail 4.

5. Then turn the chair onto its feet on a leyel surface, make
sure all four legs are flat and level against the flat surface,
noy tighten the bolts completely so that it yill not come
loose.

6. After all assembly steps, if the gap is too wide betyeen the
seat and the chair back, take off the wood screws yhich haye
been locked under the seat. And adjust the seat in an ideal
position, then re-attach its,

nmnuwmn QD .......... o
B
G

MADE IN VIETNAM 2010-04-16



ASSEMBLY INSTRUCTIONS .

@ aspenhome.

Distributed by Furniture Values Intemational, LLC

ITEM NO: ICB-6670S-BCH/BLK Dining Dbl X Side Chair(2/Carton)

ARE PACK|
A (mmmm 3" Bolt (81/4") 4Pcs D @ Lock Washer (@1/4") 10 Pcs
B (wmwm 2 1/2" Bolt (B1/4") 4 Pcs E Flat Washer (©#1/4") 10 Pcs
C pmwm 11/2" Bolt (#1/4") 2Pcs F =g Allen Wrench 1 Pc
COMPONENTS LIST |
Chair Back 1P Chair Seat 1P
Front Leg 2 Pcs

Detail 1

Detail 2

2. Place the chair back on a padded area, and assemble the
chair seat to the chair back (as shown in detail 1 & 2).Do
not tighten the bolts completely.

3. Assemble the front leg to the chair seat as detail 3.

4, Then turn the chair onto its feet on a level surface,
make sure all four legs are flat and level against the flat
surface, now tighten the bolts completely so that it will
not come loose.

5. After all assembly steps, if the gap is too yide betyeen
the seat and the chair back, take off the wood screys which
haye been locked under the seat., And adjust the seat in an
ideal position, then re—attach its.

Front leg

MADE IN VIETNAM 2010-03-16



	ICB-6050
	ICB-6670A
	ICB-6670S

